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Question Number : 1 Question Id : 7715134696 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(er0n 6l o & i MOSFET a1 URah 4R 1 ShicgiieiT @3- o fe1L U Sle o 1 U DC-
DC % URa® ! FHaw dicear 48V g qu1 FiH, 24Q 1 Wiy ¥R & 4iRa B 81 iRaao,
R e ot o vt e g1 fRafe amafy 250 Hz 31 3R 3R wfd 6 are 8, at MOSFET
g o7 orafy frefmue! o war o

A DC-DC buck converter, with a power MOSFET as the controlled switch and a diode
for free-wheeling the inductor current, has an input voltage of 48V and the output
feeds a resistive load of 24(). The converter is operating in continuous conduction
mode. The switching frequency is 250 Hz. If the load power is 6 Watts, find the
MOSFET switch on duration in milliseconds.

(a) 3 (b) 2 ()1 (d) 0.5

Options :
1.a
2.b
3.C
4.d

Question Number : 1 Question Id : 7715134696 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

feigron fRer o w0 H et MOSFET 1 UReh 4RT 1 Wigliein & o fe1Y U STale o |14 0 DC-
DC 5% URadd @1 (3w dieear 48V § qu1 Fim 24Q &1 viciy® YR & Wikd &3 81 tRaad,
e e fafd & et o g1 Rafdm agfy 250 Hz 81 37R SR fda 6 arc 3, at MOSFET
g o7 ot feftavs! v @)

A DC-DC buck converter, with a power MOSFET as the controlled switch and a diode
for free-wheeling the inductor current, has an input voltage of 48V and the output
feeds a resistive load of 24Q). The converter is operating in continuous conduction
mode. The switching frequency is 250 Hz. If the load power is 6 Watts, find the
MOSFET switch on duration in milliseconds.

(a) 3 (b) 2 ()1 () 0.5

Options :
1.a
2.b
3.C
4.d



Question Number : 2 Question Id : 7715134697 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

MOSFET @t 4 fRufe ufewy 0.20 3w g1 MOSFET, 8 A & forw argea 21 fo |  qaiiy e
T3 ST 41 1 9 et 3| MOSFET # st ey fRufa g1 a1 e e

The ON state resistance of a MOSFET is 0.20 Ohm. The MOSFET is rated for 8 A. It carries
a periodic current as shown in the Figure 1. Find the average ON state loss in the MOSFET,

|
|
bA
0 > (Ot
amj 101/
fH 1/Figure 1
(a) 24W (b)d8W (c)7.2W (d)9.6 W
Options :
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715134697 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

MOSEFET &t wuds fufa ufeRy 0.20 9 31 MOSFET, 8 A % fore 3rwa g1 feer | # g2y o
T8 ST 4R 1 g 3l 51 MOSFET ¥ i ¥uah fufa 31 a1 e e

The ON state resistance of a MOSFET is 0.20 Ohm. The MOSFET is rated for 8 A. It carries
a periodic current as shown in the Figure 1. Find the average ON state loss in the MOSFET,

A
|

6A

4“/ 2T lﬂﬂf

fefl 1/Figure 1
(a) 24W (b)48W (c)72W (d)9.6W



Options :
1.a
2.b
3.C
4.d

Question Number : 3 Question Id : 7715134698 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

A fer T R (9 2), R=40Q T L=(0.3/n)H & 9I¥ RL-YR U@l &Xdl UF He-Ug
diced! 4id Ufde @I fewrdr €1 4R dicedl @t difdd qd qfd S0Hz 1 HigeH Y@bid M
=0.6® Y WAHH We IR Alge &1 SWN od g URddd & fag Faao Yodl @t
907 f6U 9Id 81 S0Hz | RL YR, 144kW @ WY Wfdd &ffd &l 31 diec # DC
Hid dieedl Vpe &1 AM ... Bl

The figure given below (Figure 2) shows a half-bridge voltage source inverter supplying an
RL-load with R=40Q and L=(0.3/rt) H. The desired fundamental frequency of the load voltage
is 50Hz. The switch control signals of the converter are generated using sinusoidal pulse width
modulation with modulation index M = 0.6. At 50Hz, the RL load draws an active power of
1.44kW. The value of DC Source voltage Vpc in volts is:

(HVec M
R L
—AMA—TTTT—
®Voc SN
fem 2/Figure 2
(a) 300v2 (b) 500 (c) 500v2 (d) 10002
Options :
1.a
2.b
3.cC
4.d

Question Number : 3 Question Id : 7715134698 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



I fea m fE (f 2), R=40Q T L=(0.3/r)H & Y RL-YR TG &l Th Y]
dicedl 4 Widad &I fGErT 81 YR diced] @1 difed Id Mg 50Hz §1 HigeH Ya@ie M
=0.6® Y WAHY We IR Alge &1 UM od gL URddd & fag Fgau Yodl @t
909 U oId 81 S0Hz | RL YR, 144kW P Wiy Wfcd Hid @al 81 diec # DC
#id dieedl Ve @AM ... B

The figure given below (Figure 2) shows a half-bridge voltage source inverter supplying an
RL-load with R=40€ and L=(0.3/r) H. The desired fundamental frequency of the load voltage
is 50Hz. The switch control signals of the converter are generated using sinusoidal pulse width
modulation with modulation index M = 0.6. At 50Hz, the RL load draws an active power of
1.44kW. The value of DC Source voltage Vpc in volts is:

Vo -
R L
L AN — T
HVoc S\
fe@ 2/Figure 2
(2) 3002 (b) 500 (c) 5002 (d) 10002
Options:
1.a
2.b
3.¢C
4.d

Question Number : 4 Question Id : 7715134699 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

0.5°C fane & Ty -20°C J +55°C w1 & dIUHH @i WM fobar w1 21 39 o ADC facl ot
S JIA GG .......... gl

A temperature in the range of -20°C to +55°C is to be measured with a resolution 0f 0.5°C. The
minimum number of ADC bits required

(a) 8 (b) 10 (C) 12 (d) 14

Options :
1.a
2.b
3.C
4.d



Question Number : 4 Question Id : 7715134699 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

0.5°C Tl & T -20°C @ +55°C i1 & qruwM B A1 fbar o 21 390 fow ADC fael @t
HS JIH T .......... 3l

A temperature in the range of -20°C to +55°C is to be measured with a resolution of 0.5°C. The
minimum number of ADC bits required

(a) 8 (b) 10 (C) 12 (d) 14

Options :
1.a
2.b
3.c
4.d

Question Number : 5 Question Id : 7715134700 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

In BLDC motor field winding is kept on

(a) ¥eStator (b) Ye¥/Rotor
(c) gl w ff e 1 e g/Can be placed anywhere  (d) srufd/Absent

Options :
1.a
2.b
3.C
4.d

Question Number : 5 Question Id : 7715134700 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

In BLDC motor field winding is kept on

(a) ¥e/Stator (b) Fe/Rotor
(c) gl w uff T o1 ¥we g/Can be placed anywhere  (d) Sufd/Absent

Options:
1.a



2.b
3.¢C
4.d

Question Number : 6 Question Id : 7715134701 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9 Jd-Uidd ¥4l woile 4, FdAw el 7 "UR1 U @ or @ g
In a high-power servo motor drive, what is the function of a "current loop" in the control
system?

(a) HieX @I fUfT 1 F8A0, To control the position of the motor

(b) HIR & T & FTAU/To regulate the speed of the motor

(c) HIEX @ qa-3g0 @1 Fam/ To control the motor's torque

(d) MR dicedl Yy §IU TG/ To maintain a constant supply voltage

Options :
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134701 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T Id-Yidd Wdl wuile §, M qurel § "URT <u @ or @l g
In a high-power servo motor drive, what is the function of a "current loop" in the control
system?
(2) HieX @1 Rfd &1 F80, To control the position of the motor
(b) HIeX & o P MU0/ To regulate the speed of the motor
(c) HIEX @1 §oi-3gul @1 M/ To control the motor's torque
(d) RR dicedl Y« §¢ G/ To maintain a constant supply voltage
Options :
1.a
2.b
3.c

4.d

Question Number : 7 Question Id : 7715134702 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T A ol & g 8 A o €1 e 11 g o A 4 ST AR 81 AR ol & ot
IR .... T

A memory system has a total of 8 memory chips. Each chip has 11 address lines and 4 data
lines. The total size of the memory system s,

(a) 4 Kbytes (b) 8 Kbytes (c) 16 Kbytes (d) 32 Kbytes

Options :
1.a
2.b
3.C
4.d

Question Number : 7 Question Id : 7715134702 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e A el # g 8 At Fow €1 v w11 U5 a1 a4 Se g ¢ A el &1 g

IR ... gl

A memory system has a total of 8 memory chips. Each chip has 11 address lines and 4 data
lines. The total size of the memory system s,

(a) 4 Kbytes (b) 8 Kbytes (c) 16 Kbytes (d) 32 Kbytes

Options :
1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134703 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e U Fdfod S Hiex @ TR .91, 99 RRIS 0.25V/pm g1 Ifwre & fa R
HRT 4 A 1 R URRIY 2.5Q §1 A B Wiwicn SIS & WY W $ag ey ffa
fepdRt Fardl 31 RpeRt # faw 30 {7 B @v & §Y 230V RMS, 50Hz T el
ACHIR W Rl d A dram .............. Bl ((2)12=1.41, (3)12=1.73)
The separately excited DC motor has back emf constant of 0.25V/rpm. The armature
current is 4 A without any ripple. The armature resistance is 2.5 Q. A single phase half wave
controlled rectifier with freewheeling diode is driving the motor. The input to the rectifier

is 230V RMS, 50Hz single phase AC source with a firing angle of 30 degree. The Speed of
the motor under this operating condition is A(2)12=1.41, (3)12=1.73)

(a) 346 rpm (b) 386 rpm (c) 312 rpm (d) P35 Ta/None

Options :



1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134703 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e U Idfod SRt Hiex @ foRiedh f.a1. 99 RRi® 0.25V/pm g1 3ffdrel & far smw

YRT 4 A B R TRy 2.5Q §1 HicY B Bl S/ & Y W ey s Fabia

fepdRt Fardl 31 RPeRt # fdw 30 f&h i @ & §Y 230V RMS, 50Hz T Heilg
AC 4id 31 38 Waed R d At @1 dm .............. Bl ((2)12=1.41, (3)12=1.73)
The separately excited DC motor has back emf constant of 0.25V/rpm. The armature
current is 4 A without any ripple. The armature resistance is 2.5 Q. A single phase half wave
controlled rectifier with freewheeling diode is driving the motor. The input to the rectifier
is 230V RMS, 50Hz single phase AC source with a firing angle of 30 degree. The Speed of
the motor under this operating condition is A(2)12=1.41, (3)12=1.73)

(a) 346 rpm (b) 386 rpm (c) 312 rpm (d) EbJI"ﬁ Tel/None

Options :
1.a
2.b
3.C
4.d

Question Number : 9 Question Id : 7715134704 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U5 UR U9 4 | A §1 @Y URUY 9RT Isc, 0.5 dlee &1 Gl URWY dleedl Voc, 0.8 B RE
% g R By &1 HHad ed FE 1 G |

A solar cell has short Circuit Current Isc of 1 A, Open Circuit Voltage Voc of 0.5 Volt, Fill
factor of 0.8. Find the maximum power output of the solar cell.

(a) 0.5W (b)0.4W (c)0.25W (d)0.2W

Options :
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715134704 Question Type : MCQ Option Shuffling : No



Correct Marks : 1 Wrong Marks : 0.33000001311302185

U5 UR U9 4 | A §1 @Y URUY 9RT Isc, 0.5 dlee &1 Gl URWY dleedl Voc, 0.8 B RE
Tid g1 UR $E &1 Hfdad Wdd 0 $ oar @

A solar cell has short Circuit Current Isc of 1 A, Open Circuit Voltage Voc of 0.5 Volt, Fill
factor of 0.8. Find the maximum power output of the solar cell.

(a) 0.5W (b) 04 W (c)0.25W (d)02W

Options:
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134705 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 Gl QU 99 SHiS fGFaR, 200V RMS, 50Hz T ®eig AC Ik ¥ WRlvd 4R &I
4R S &1 SR IS gRT Bild Wfsd Tfdd 4004 §, A URIYS R @1 TRAMT
gl (¥ 7 o & s, ey )

A Single phase full bridge diode rectifier feeds a resistive load from a 200V RMS, 50Hz single
phase AC supply. If the active power drawn by the load is 400 Watts, then the magnitude of
the resistive load is . (Assume the diodes are ideal.)

(a) 50Q (b) 100 Q (c) 200 Q (d)300Q

Options:
1.a
2.b
3.c
4.d

Question Number : 10 Question Id : 7715134705 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T dag O dg SHiS fGFaRl, 200V RMS, 50Hz T $alld AC J@s ¥ WiRiyd R &
4R S &1 SR IS gRT Bifd Wiy Tfdd 4009 §, A UoRlYS R @1 URAMT
gl (¥ 7 o & s, ey )

A Single phase full bridge diode rectifier feeds a resistive load from a 200V RMS, 50Hz single
phase AC supply. If the active power drawn by the load is 400 Watts, then the magnitude of
the resistive load is . (Assume the diodes are ideal.)

(a) 50Q (b) 100 Q (c) 200 Q (d)300Q

Options :



1.a
2.b
3.c
4.d

Question Number : 11 Question Id : 7715134706 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fer 0 @ ¥ ¥, FdY dicedl &1 WAy oiiMd & UdY H BUTES Uil & 9,
i de PP dicedl $H WeH &l 82

Which of the given regulator provides regulated dc output voltage with a negative polarity
output with respect to common terminal of input voltage?

(a) if¥adfd =/ Boost regulator (b) 8% 187 /Buck Regulator
(c) ¥P-g% 0H,Buck-Boost regulator (d) '3 T81/None

Options :
1.a
2.b
3.C
4.d

Question Number : 11 Question Id : 7715134706 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fer mu Fel # 9, Fow dicedr &1 waMy <T & Hdy § BUES gaudr & 9,
AR de A dicedr o YeH &l 87

Which of the given regulator provides regulated dc output voltage with a negative polarity
output with respect to common terminal of input voltage?

(a) 3Mfad® =, Boost regulator (b) 5 FU%/Buck Regulator
(c) T9-g% 0%, Buck-Boost regulator (d) @5 Tgl/None

Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134707 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



w fasd 9fY R BIT) @ of@ (3P sa) qu WW &7 (3 s ¥ amw
o §U US igd Mg R & w9 § Iwn fod o g1 o @R # dud & fou

A Bipolar Junction Transistor (BJT) is used as a power control switch by biasing it in the cut-
off (OFF State) and saturation region (ON state). In ON state, for BIT

(a) 3MUR-Jeic qUT SMUR-TE! ¥, il sArieRie Fmfd )
Both the base-emitter and base-collector junctions are forward biased.

(b) 3MYR-Iid SRS TR § U IMR-YImel I vafeRe <R @
The base-emitter junction is forward biased and the base-collector junction is reverse
biased.

(c) 3MYR-Jeier Uy TR § U MUR-T! WY o SR Bl
The base-emitter junction is reverse biased and the base-collector junction is forward
biased.

(d) SMUR-IFoip T HYR-TIE W, oHi oy SR g
Both the base-emitter and base-collector junctions are reverse biased.
Options :
1.a
2.b
3.¢C
4.d

Question Number : 12 Question Id : 7715134707 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W fRyd 9 SRR (BIT) @I ofdd (3T S@®n) Ul UqW &7 (31 @wn) ¥ Iy
N g0 UG Y (oA fg & 9§ Iun fF o 81 o @ § dd & fu

A Bipolar Junction Transistor (BJT) is used as a power control switch by biasing it in the cut-
off (OFF State) and saturation region (ON state). In ON state, for BIT

(2) MYR-IGOP U1 AYR-YIR UY, GHI 3@ TuRe gl
Both the base-emitter and base-collector junctions are forward biased.

(b) MYR-IHuH ST TG & qu MR-l OfY wafchie amia gl
The base-emitter junction is forward biased and the base-collector junction is reverse
biased.

(¢) MYR-ITuT U4 WA § duT MYR-UIG! O 30 Tuiid gl
The base-emitter junction is reverse biased and the base-collector junction is forward
biased.

(d) MR-I&P U HYR-YIE UY, GHI 1y i gl
Both the base-emitter and base-collector junctions are reverse biased.
Options :
1.a



2.b
3.¢C
4.d

Question Number : 13 Question Id : 7715134708 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) TFETGH Mg & Wy e IR W Suad ¢
Is directly proportional to the frequency of operation

(b) ST agfel & WY AU ¢

Is inversely proportional to the frequency of operation
(c) TR MR & 1 & Ty T AR R ufad ¢
Is directly proportional to the square of the frequency of operation

(d) v g 3 a7l & WY SR AU

Is inversely proportional to the square of the frequency of operation

Options :
1.a
2.b
3.C
4.d

Question Number : 13 Question Id : 7715134708 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) WREIH amgfy 3 Ty W R R S €

Is directly proportional to the frequency of operation

(b) ITGH 3qR & WY SHARTID 3

Is inversely proportional to the frequency of operation

(c) TRETGH Mg & & & WY Y IR W ATd 3
Is directly proportional to the square of the frequency of operation

(d) VIR &g 3 a7l & WY SR HHIeS @

Is inversely proportional to the square of the frequency of operation



Options :
1.a
2.b
3.C
4.d

Question Number : 14 Question Id : 7715134709 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 §%¢ DC DC URddd &1 Fa¥ dieedl 250V DC 8l UREd®, @8 &1 R0 400V R Bl
8l @ YR Oad gl fad @1 39 990 SR 15 ARHNGUS &, o HRiud I Ragd g
@1 Tdl T

The Input voltage of a Boost DC DC converter is 250V DC. The converter feeds a load at
400V DC. The inductor current is continuous. If the ON time of switch is 15 microseconds,
Find the switching frequency of the chopper.

(a) 10kHz
(b) 25 kHz
(c) 30kHz
(d) 40 kHz
Options :
1.a

2.b

3.¢C

4.d

Question Number : 14 Question Id : 7715134709 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U6 g% DC DC URadd &I Fd¥ dieedl 250V DC gl URad®, dis @1 RO 400V R &l
8l @ YR Oad gl fad @1 39 990 SR 15 ARHNGUS &, o HRiud I Ragd g
@1 Tdl T

The Input voltage of a Boost DC DC converter is 250V DC. The converter feeds a load at
400V DC. The inductor current is continuous. If the ON time of switch is 15 microseconds,
Find the switching frequency of the chopper.

(a) 10kHz
(b) 25 kHz
(c) 30kHz
(d) 40 kHz

Options :
1.a



2.b
3.¢C
4.d

Question Number : 15 Question Id : 7715134710 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

quft A, 40l B, 407t AB GUI 34U D VAR #, e¥ S aEdl foual 7
Among Class A, Class B, Class AB and Class D amplifier, which has the highest efficiency

a) ST A/Class A
b) 4uft AB/Class AB
¢) 90t D/Class D
d) guit B/Class B

(
(
(
(
Options :
1.a
2.b
3.c

4.d

Question Number : 15 Question Id : 7715134710 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

quft A, 40l B, 407t AB GUI 34U D VAR #, e¥ S aEdl foual 7
Among Class A, Class B, Class AB and Class D amplifier, which has the highest efficiency

a) ST A/Class A
b) 4uft AB/Class AB
¢) 90t D/Class D
d) guit B/Class B

(
(
(
(
Options :
1.a
2.b
3.c

4.d

Question Number : 16 Question Id : 7715134711 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Yd® H 500 Gl art 6-ydig DC WA & & deferl & 40 # WIg W g1 e & B
Javid fd o 8, @ 0.02 whipole @1 JE@I Tdd Bl gl R & URUY @I 0.02
Upug H Giel W qu Hay gebd 0.002 whipole &, &7 fiEl & R-UR URG ofgd
diced] @1 URDTH BY|

The field coils of a 6-pole DC generator each having 500 turns are connected in series. When
the field is excited, there is a magnetic flux of 0.02 wb/pole. If the field circuit is opened in
0.02 second and the residual magnetism is 0.002 wb/pole, calculate the average voltage which
is induced across the field terminals.

(a) 3000V
(b) 18000V
(c) 16200V
(d) 18600V

Options :
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715134711 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Yd® H 500 Gl At 6-4dig DC WA & &7 el & AU § WIg W gl Ve & B

Jafuid fam ST &, @ 0.02 wh/pole @ JE@I TE Bt gl SR &F URUY @ 0.02

Ypug | el 91U U HaP d9da 0.002 whipole 8, &7 Gl & dR-UR URd N

dicedl &1 RS B

The field coils of a 6-pole DC generator each having 500 turns are connected in series. When
the field is excited, there is a magnetic flux of 0.02 wb/pole. If the field circuit is opened in
0.02 second and the residual magnetism is 0.002 wb/pole, calculate the average voltage which
is induced across the field terminals.

(a) 3000V
(b) 18000V
(c) 16200V
(d) 18600V

Options :
1.a
2.b
3.c
4.d



Question Number : 17 Question Id : 7715134712 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

60 Ia @ T Fe BT 250V BT UWE ¥ HGRW oA oA g1 T B A0 F A W T
a6 B & URY H UIF 9 FI 4. 9. 99 291 §1 Udd U &1 fiaRe Wiy 0.1
3 & 9u URY ¥ ST Wil 19 W g1 URA® deeRl 4RT fod g2

A battery of 60 cells is charged from a supply of 250V. The cells are connected in series.
Each cell has an e.m.f. of 2 volts at the start of charging. Internal resistance of each cell is 0.1
ohm and there is an external resistance of 19 ohm in the circuit, what is the initial charging
current?

Question Number : 17 Question Id : 7715134712 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

60 Iall @ @ §ed B 250V B Uk ¥ AR A A g1 I B4 F A W F
a6 & YR H UdS U9 &1 {9, 91, 99 2791 §1 U A B SHidRkae WY 0.1
3 & 9u URY ¥ ST Wil 19 W g1 URA® deeRl 4RT fod g2

A battery of 60 cells is charged from a supply of 250V. The cells are connected in series.
Each cell has an e.m.f. of 2 volts at the start of charging. Internal resistance of each cell is 0.1
ohm and there is an external resistance of 19 ohm in the circuit, what is the initial charging
current?



Question Number : 18 Question Id : 7715134713 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 20kW e S 900 die W 250V effa dicedl & Oy oW &al g1 oA 37 q@ie
IR AR, 9°f 701 o e BT UieTer HH: 0.05, 0.025 U1 100 HA {1 HHR H
307 9 [4.91.99 &1 tRdbed B¢ oq 7O 3 Y- F HigT Wil

A 20kW compound generator works on full load with a terminal voltage of 250V. The
armature, series and shunt windings have resistances of 0.05, 0.025 and 100 ohms respectively

as shown in Figure 3. Calculate the total e.m.f. generated in the armature when the machine
is connected short-shunt

| = 80A
W
i A
0.025 ohm
I
100 ohms 0.050hm
Y
fo 3/Figure 3
(a) 250V (b) 252V (c) 254.13V (d) 256.13V
Options :
1.a
2.b
3.¢C
4.d

Question Number : 18 Question Id : 7715134713 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T 20kW e S 900 die W 250V effa dicedl & Oy oW &al g1 oA 37 q@ie
IR AR, 9°f 701 o e BT UieTer HH: 0.05, 0.025 U1 100 HA {1 HHR H
307 9 [4.91.99 &1 tRdbed B¢ oq 7O 3 Y- F HigT Wil

A 20kW compound generator works on full load with a terminal voltage of 250V. The
armature, series and shunt windings have resistances of 0.05, 0.025 and 100 ohms respectively
as shown in Figure 3. Calculate the total e.m.f. generated in the armature when the machine
is connected short-shunt

| = 80A
W
i A
0.025 ohm
I
100 ohms 0.050hm
Y
fo 3/Figure 3
(a) 250V (b) 252V (c) 254.13V (d) 256.13V
Options :
1.a
2.b
3.¢C
4.d

Question Number : 19 Question Id : 7715134714 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

6 4l dril 500 Y Wik, 3 Fell 440V, 50Hz, WE HIR & T WU R & 950 rpm B
Ul @1 URHTH B

A 500 h.p, 3 phase 440V, 50Hz, induction motor with 6 poles has a speed of 950 rpm on full
load. Calculate the slip

(2) 5% (b) 2% (c) 4% (d) 6%

Options :
1.a
2.b



3.cC
4.d

Question Number : 19 Question Id : 7715134714 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

6 4dl dril 500 Y WK, 3 FeA 440V, 50Hz, W& HR & T WA R & 950 rpm B
YU T IRPA B

A 500 h.p, 3 phase 440V, 50Hz, induction motor with 6 poles has a speed of 950 rpm on full
load. Calculate the slip

(2) 5% (b) 2% (c) 4% (d) 6%

Options :
1.a
2.b
3.cC
4.d

Question Number : 20 Question Id : 7715134715 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Si, GaAs, GaN @1 3C-SiC Uerdl H Wida-gfdd il & fou Suged U g1 ARl H
fou T fE 43 R (V) &7

Si, GaAs, GaN and 3C-SiC materials have properties suitable for power device applications.
Among the four, which has the highest band gap (eV)?

(a) Si (b) GaAs (c) GaN (d) 3C-SiC

Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134715 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Si, GaAs, GaN @1 3C-SiC Uerdl H Wida-gfdd il & fou Suged U 1 Rl H

foud ¥ed oft &3 SRm (eV) 3

Si, GaAs, GaN and 3C-SiC materials have properties suitable for power device applications.
Among the four, which has the highest band gap (eV)?

(a) Si (b) GaAs (c) GaN (d) 3C-SiC



Options :
1.a
2.b
3.C
4.d

Question Number : 21 Question Id : 7715134716 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

& 80dB Tfal 741 314V/ms 7 9N & &1 IS Yada @ S e 100 O 3 0@
e} vaele @1 o foar Wi 81 39 wad® &1 gugi 10 kHz @t ongfv @) surawig e & e
W%%ﬂ{ﬂhﬁﬁﬁﬂﬁﬁ%ﬁﬂmﬁﬂﬁwmmmﬁﬁumﬁﬂwwm
GTEI,

A noninverting amplifier of gain 100 is realized using an operational amplifier of gain 80dB
and slew rate of 314V/ms. The amplifier is required to amplify sinusoidal signal of frequency
10 kHz. What is the maximum peak voltage of the sinusoidal signal that can be amplified
without slew rate induced distortion?

(a) S0mV (b) 100 mV (c) 150 mV (d) 200 mV

Options :
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134716 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@ 80dB Tl qu1 314V/ms 7 90 R 31 FECHIES YaHa &1 9 e 100 T B @
St A @t o o o 31 39 Wada & Swan 10 kHz @t e & wrawn wadh &
@m%lggﬂqﬂﬁa?ﬁﬁﬂﬁﬁﬂimuaﬁﬂﬁmmﬁmm TGP o 1 A R dice
foeT1 37

A noninverting amplifier of gain 100 is realized using an operational amplifier of gain 80dB
and slew rate of 314V/ms. The amplifier is required to amplify sinusoidal signal of frequency
10 kHz. What 1s the maximum peak voltage of the sinusoidal signal that can be amplified
without slew rate induced distortion?

(2) S0mV (b) 100 mV (c) 150 mV (d) 200 mV



Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134717 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ol T & TIEY dieed Ul /3 @ daicardl omafd Sad Bedl o faggd Saiedl

ol e, @ ceniddl, fome fdde defad 4 @ ¥5 &, d Wikd @1 9 g1 oo

frid dicedt Y @

The outputs of two inverters producing square waves of identical voltage and frequency

having a phase deference of n/3 radians are fed to two transformers whose secondary windings
are connected in series. What is resultant output voltage waveform?

(a) T[H/zero (b) 95T T/sine wave
(c) 9 T Hed/quasi square wave (d) dc dieedl/de voltage

Options :
1.a
2.b
3.C
4.d

Question Number : 22 Question Id : 7715134717 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o T & FAeT dieedl qUT w3 BT dofarad sghy SO ot @ faggd wfeat

o1 frim, o cewill, e fdoe defm 4 @ 98 &, § wika @ ot ¢ oRomd

e dicedt RTEY @ 8

The outputs of two inverters producing square waves of identical voltage and frequency
having a phase deference of n/3 radians are fed to two transformers whose secondary windings
are connected in series. What is resultant output voltage waveform?

(a) ¥/ zero (b) 913 TUI/sine wave
(c) 9 T G/ quasi square wave (d) dc dieedl/de voltage

Options:
1.a
2.b

3.cC
4.d



Question Number : 23 Question Id : 7715134718 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

a1 a1 8§ 1o Rifore i fyamt @ maiga Tt om 20A 31 7R 9@ §R 4R1 @1 3141 3

feam S 3, i Ul SR faber) gl ?

The anode current passing through a silicon controlled rectifier in the on state is 20A.

If its gate current is made half what will be anode current?

(a) 10 A (b) 20 A () 5A (d) 30A
Options :

1.a

2.b

3.C

4.d

Question Number : 23 Question Id : 7715134718 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

1 a1 H Ua R e part 3§ warfed T 4R 20A 51 3R 39@! gR 4R1 @1 3141 3%

fe o 2, i TS S forr g

The anode current passing through a silicon controlled rectifier in the on state is 20A.

If its gate current is made half what will be anode current?

(a) 10 A (b) 20 A (c) 5A (d) 30 A
Options :

1.a

2.b

3.c

4.d

Question Number : 24 Question Id : 7715134719 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fot 4 7 et wivwy & v o Cifore” a1 e dun frer aifirreoe fommn mar g1 10 kHz ®
rIferel @ R e & SR 3 e &7 &1 ual |

The turn on and turn off characteristics of a power transistor in a switching circuit are
shown in Figure 4. Find the average power dissipation due to switching when
operated at 10 kHz.

Vee /7 &
Vee i
e /1 A : E T
| <1250 >] ¢ | <1258 > | t
Turnon Turn off
ferA 4fFigure 4
(a) 1W (b) 2w (c) 3W (d) AW
Options :
1.a
2.b
3.c
4.d

Question Number : 24 Question Id : 7715134719 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fot 4 7 et wivwy & v o Cifore” a1 e dun frer aifirreoe fommn mar g1 10 kHz ®
rIferel @ R e & SR 3 e &7 &1 ual |

The turn on and turn off characteristics of a power transistor in a switching circuit are
shown in Figure 4. Find the average power dissipation due to switching when
operated at 10 kHz.

Vee /7 &
Vee i
e /1 A : E T
80v E E 80v
 4A 1A E J/
| <1250 >] ¢ | <1258 > | t
Turnon Turn off
ferA 4fFigure 4
(a) 1W (b) 2w (c) 3W (d) 4W
Options :
1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134720 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

220V, 50 Hz a9 & ot &:-den o 1 SRl &t S smafa &1 o g
Find a ripple frequency of a six-phase half-wave rectifier for 220 V, 50 Hz input
(a) 150Hz (b) 300 Hz (c) 50 Hz (d) 600 Hz
Options :

1.a
2.b
3.c
4.d

Question Number : 25 Question Id : 7715134720 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



220V, 50 Hz a9 & ot &:-den o 1 SRl &t S smafa &1 o g
Find a ripple frequency of a six-phase half-wave rectifier for 220 V, 50 Hz input
(a) 150Hz (b) 300 Hz (c) 50 Hz (d) 600 Hz
Options :

1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134721 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

%Dcmﬁaﬁmanmaﬂ@%mmﬁai@fﬁﬁwmm,ﬁw

A DC shunt motor is running at constant speed. If its field winding is suddenly opened, what
will happen?

(a) Al o1 9 &R QLE‘THfSpeed of the motor will remain constant

(b) TR 3ffifE@g g ST/ The motor will get locked

(c) Al B 9 &9 ﬁ’ﬂ/Speed of the motor will reduce

(d) HI® &1 7 W@ ¥Y ¥ d¢AM/Speed of the motor will become dangerously high

Options :
1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134721 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

%Dcmmﬂmﬁhmaﬁ@@msﬂaﬁﬁﬂﬁﬁﬁwmmﬂw

A DC shunt motor is running at constant speed. If its field winding is suddenly opened, what
will happen?

(a) X @ 97 &R Q;E‘TWSpeed of the motor will remain constant

(b) HieX #fffidg g1 WU/ The motor will get locked

(c) HIeX T 47 PH ﬁ‘ﬂfSpeed of the motor will reduce

(d) HIR 1 &7 @D Y Y d¢7/Speed of the motor will become dangerously high

Options :
1.a
2.b



3.cC
4.d

Question Number : 27 Question Id : 7715134722 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SCR & Vg-Ig 3PRIEGUAT & A 160 V/A 1 R dibliad Wk &7 @ 0.8 W d@ it
@l WU, d gR 4N @1 Eedd YHd JE @1 Odl |

The Vg-Ig characteristics of an SCR has slope of 160 V/A. Find the maximum value of gate
current possible if the instantaneous power dissipation is to be limited to 0.8W

(a) 110 mA (b) 220 mA (c) 71 mA (d) 31 mA

Options :
1.a
2.b
3.C
4.d

Question Number : 27 Question Id : 7715134722 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SCR & Vg-Ig 3RREUAT & 21d 160 V/A 1 R dibliad Wdd &7 @ 0.8 W 7@ Uit
@l WU, d gR 4N @1 Eedd YHd JE @1 Odl |

The Vg-Ig characteristics of an SCR has slope of 160 V/A. Find the maximum value of gate
current possible if the instantaneous power dissipation is to be limited to 0.8W

(a) 110 mA (b) 220 mA (c) 71 mA (d) 31 mA

Options :
1.a
2.b
3.C
4.d

Question Number : 28 Question Id : 7715134723 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

PWM Wiadil & Ud-dal Higed ¥ Fydd Tonghy & Fepid fear o1 9bd € R We
5 1 7 [ @ A 501 S gl

In single-phase modulation of PWM inverters, the lowest harmonic can be eliminated if the
pulse width is made equal to

(a) 30° (b) 0° (c) 120° (d) 60°

Options :



1.a
2.b
3.c
4.d

Question Number : 28 Question Id : 7715134723 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

PWM Wiodm! & Ud-dal Aiged § Fua Ught & Feaiyd &0 & 96d & R We
153 4 ] — ® JAH fobar & 3

In single-phase modulation of PWM inverters, the lowest harmonic can be eliminated if the
pulse width is made equal to

(a) 30° (b) 0° (c) 120° (d) 60°

Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134724 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ERE ¥ & @ bl g @ RpeR @1 MW, RRR THvm @ 9 AR 8

BT I /6 BSEI®I § qu I8 ¥dd diod Hidd &l gl de PR diedr &1 b

M fbe 82 (3 @1 Tgd 1.737)

The input of a single phase full wave rectifier made of thyristors is a sine wave with peak

value Vm. The firing angle is n/6 radians and the load ensures continuous conduction. What
is the average value of dc output voltage? (Square root of 3 is 1.73)

(a) 0.31 Vm (b)0.27 Vm (c) 0.55Vm (d) 0.62 Vm

Options:
1.a
2.b
3.¢
4.d

Question Number : 29 Question Id : 7715134724 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



ERE ¥ @ pa @ @ Rl @ F9w, AR THvm & 9 ORI ©
AT BV /6 ASEI@I0 § 91 die Tdd 9o GHRG & 8l de A dicedl &1 i
TH e 82 (3 @1 T9d 1.738)

The input of a single phase full wave rectifier made of thyristors is a sine wave with peak
value Vm. The firing angle is 7/6 radians and the load ensures continuous conduction. What
is the average value of dc output voltage? (Square root of 3 is 1.73)

(a) 0.31 Vm (b) 0.27 Vm (¢) 0.55Vm (d) 0.62 Vm

Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134725 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
72A® de 9RT U AR B Fuidpd ¢ R T 1800 rpm R Id 7id IJAGH, UK @l

YAl & dl §d Ry R § '@ qegdliae 9 360V 39 &l gl 4.8A Tl de URT ¥
B3 U1 1200 rpm W PH & T e e Ry dleedl 49 B

A synchronous generator develops 360V in open circuit condition when the rotor is energized
by dc current of 7.2A and the prime mover moves the rotor at 1800 rpm. How much open
circuit voltage will develop when energized by dc current of 4.8A and rotated at 1200 rpm?

(a) 300V (b) 160V (c) 150V (d) 200V

Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134725 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
72A® de ¥RT ¥ IR B Foiidd A W dU 1800 rpm R & T IJAGH, X

YAl & dl §d Ry R F '@ qegdliad A 360V I@d B gl 4.8A Tl de URT T
Fuidd B U 1200 pm R PH & Y b Gal IR9Y dieedl I g

A synchronous generator develops 360V in open circuit condition when the rotor is energized
by dc current of 7.2A and the prime mover moves the rotor at 1800 rpm. How much open
circuit voltage will develop when energized by dc current of 4.8A and rotated at 1200 rpm?

(a) 300V (b) 160V (c) 150V (d) 200V

Options :
1.a



2.b
3.¢C
4.d

Question Number : 31 Question Id : 7715134726 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Th UUTell @ faRy iR 52+ 35+ 9 = 09 & T 81 WOl & gl @ g

The characteristic equation of a system is given by s® + 3s + 9 = 0. What is the nature of the
system?

(a) 3FadHGd/undamped (b) T 3faAfGd/under damped
(c) ifdd 3faHE/critically damped (d) #ffd afed/over damped
Options :
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134726 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Th YUIel @ faRy TiaR 52+ 35+ 9 = 09 & T g1 WOl & ol @ g

The characteristic equation of a system is given by s + 35 + 9 = 0. What is the nature of the
system?

(a) 3FadHICd/undamped (b) T 3qHfEd/under damped
(c) Wifd® HaHe/critically damped (d) 3ifd 2f@Hfed/over damped
Options :
1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134727 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

md SRl (RLC URTY) UROY & ofe R Wfdd e ...... 2l
The power factor at resonance of a parallel resonant (RLC circuit) circuit is

(a) 1 (b) <1 (c)>1 (d) 0
Options :

1.a



2.b
3.¢C
4.d

Question Number : 32 Question Id : 7715134727 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

md SRl (RLC URUY) UROY @ o R fdd Tuid ...... H

The power factor at resonance of a parallel resonant (RLC circuit) circuit is
(a) 1 (b) <1 (c)>1 (d) 0

Options :
1.a
2.b
3.C
4.d

Question Number : 33 Question Id : 7715134728 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

¥ fiam # e died @ ... &7 # Tyl oR SHis & AW § MUk @t
Wt 3l

In a shunt regulator, output voltage is regulated by virtue of the zener diode being operated in
the .......oeveienen region

(a) JohHl ¥oH/Reverse break down (b) 3/ Forward
(c) Hqw/Saturation (d) 3fdd/Cut off
Options :
1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134728 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

mgmﬁﬁﬁﬂmaﬁ ........ &7 ¥ UeIfod 9 SMis & AW § Ffd &l
idl Bl

In a shunt regulator, output voltage is regulated by virtue of the zener diode being operated in
the ..ooooiieiieies region

(a) JepHI HoH/Reverse break down (b) 31/ Forward

(c) HJ/Saturation (d) 3fd®/Cut off



Options :
1.a
2.b
3.C
4.d

Question Number : 34 Question Id : 7715134729 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T3 T9-Sg N Y-y ("We-me) RRG T wa
In an H-bridge circuit, what is the significance of the "shoot-through" condition?
(a) 39 Rufa o Wil Feed ¢ oa U@ T el gfomet 3 3l
It refers to the condition where all transistors are off simultaneously.

(b) T T4 BT 3 19 U B TH ARG eI choree H U 1Y T a1 8T g

It occurs when both transistors on one leg of the bridge conduct simultaneously.
(c) o Rl ofa 4T ! fen I S 78! o Wbl

It is the situation when the current direction cannot be changed.
(d) 39 Rufa & il Fvel ¢ 99 IwR & AR-UR FAa diecal 91 ¢l

It refers to excessive voltage spikes across the load.

Options:
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134729 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e T3-S IR "TE-y ("TRIG-ATe") ORI @1 e o
In an H-bridge circuit, what is the significance of the "shoot-through" condition?
(a) 39 Rufa @l Hehla ol ¢ o vo Wy Tt comeR 3w g1
It refers to the condition where all transistors are off simultaneously.

(b) T8 a1 o U B T ARG Sl e B T 1Y A 31 T 3

It occurs when both transistors on one leg of the bridge conduct simultaneously.
(c) 3 Rl W1d YRT ol T i wcar g1 ot Tl

It 1s the situation when the current direction cannot be changed.

(d) 39 fRufa 3! Hafia et ¢ 78 SwR & 9R-TR st dieea 91

It refers to excessive voltage spikes across the load.

Options :



1.a
2.b
3.c
4.d

Question Number : 35 Question Id : 7715134730 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

WS 49 &g e e wurd @t widiea &1 widiia Fefaied § o o 8

Which of the following represent the response of a critical damped system to unit step input?
(a) (1—e ™1 +wyt)) (b) 1 — cos(wt)
ONCRLY (d)1

Options :

1.a

2.b

3.C

4.d

Question Number : 35 Question Id : 7715134730 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

PTG Fd¥ 39 Fifde aved Tord @ uiafea &1 wiofiia Fefafed § o8 e &

Which of the following represent the response of a critical damped system to unit step input?
(a) (1—e ™1 +w,t)) (b) 1 — cos(wyt)
(&) (&™) (d)1

Options :

1.a

2.b

3.C

4.d

Question Number : 36 Question Id : 7715134731 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



44 feu M (@ 5) Te-oe U 9 faggd WEd @i Gyl

Consider a single-phase full wave inverter given below (Figure 5):

+

Vie =

Ty %m v, 2% %DZ
- iy +—— B
A >— Load
Y A D3 T4y ADA

fad 5/Figure 5
5 @ R BY, IR 9N & U g fawr ww .. 2

For a purely inductive load, the correct switching sequence for load current is:
(a) DiDy, T1T2, DsDy, T5Ty (b) T1T4, DDy, T2T3, D2Ds
(c) T1Tz, D1Dy, T3T4, D3Dy (d) DDgs, T1Ts, D2D3, T2T;
Options :
1.a
2.b
3.C
4.d

Question Number : 36 Question Id : 7715134731 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



44 feu M (@ 5) Te-oe U 9 faggd WEd @i Gyl

Consider a single-phase full wave inverter given below (Figure 5):

+

Vie =

Ty %m v, T2y %D.’Z
= A

Y A D3 T4y ADA

fad 5/Figure 5
5 @ R BY, IR 9N & U g fawr ww .. 2

For a purely inductive load, the correct switching sequence for load current is:

(a) DiDs, T1Tz, D3Dy, T3Ty (b) T1 T4, D1Dy4, T2T3, D2Ds
(c) T1Tz, D1Dy, T3T4, D3Dy (d) DDgs, T1Ts, D2D3, T2T;

Options :
1.a
2.b
3.C
4.d

Question Number : 37 Question Id : 7715134732 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

B-fig e o fou Fefifed 4 o w1 Tl o
Which of the following is NOT true regarding three point starter
(a) T Se qu 9fe e URY B & U Wi foar o Wb §
It can be used to start shunt and compound motors
(b) HHREG Aok @181 & GRA T8 HieX B [ed & @
It protects the motor during sudden power interruption
(c) Hfeur TRffl & dRA ) A @ WA W& |
It protects the motor during overload condition
(d) Fiex @ s ¥ fdwled g4 31 SR & o a0 Fraw e o ol g

Speed control can be exercised without risk of disconnecting motor from supply
Options :
1.a

2.b
3.¢C



4.d

Question Number : 37 Question Id : 7715134732 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fB-fdg iy @ fou e § o1 I8 T8 8
Which of the following is NOT true regarding three point starter
(a) 38 e TU1 TS Al WRY T & [0 Iw o 1 9 §
It can be used to start shunt and compound motors
(b) B fowel @ & GRF Tg Al 31 REa @l §
It protects the motor during sudden power interruption
(c) dfour TRRfol & GRA T8 AR B Wi w@d @
It protects the motor during overload condition
(d) HicY @ was ¥ G@fed H & Wi & o o9 frbw i o1 wedr ©

Speed control can be exercised without risk of disconnecting motor from supply

Options :
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134733 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U@ 3-mal dH-uRade # BERET B 120° § dU GO0 S 110° §1 Wd® SCR aul
Thicic SMIS ...... & fou w9 A B gl

In a 3-phase semi-converter the firing angle is 120° and extinction angle is 110°. Each SCR
and freewheeling diode conduct respectively for

(a) 60°,50° (b) 30°, 50° (c) 60°, 10° (d) 30°, 40°

Options:
1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134733 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U@ 3-mal dH-uRade # BERET B 120° § dU GO0 S 110° §1 Wd® SCR aul
hicgifer SMIS ...... & U HHg: I B 5l

In a 3-phase semi-converter the firing angle is 120° and extinction angle is 110°. Each SCR
and freewheeling diode conduct respectively for

(a) 60°,50° (b) 30°, 50° (c) 60°, 10° (d) 30°, 40°

Options :
1.a
2.b
3.¢
4.d

Question Number : 39 Question Id : 7715134734 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TH 230V DC HEH & AHR FRIY 0.5 (1 81 3R qof WU iR 4R 10A §,
n9H AR & €9 ¥ & & W RS [9.9.90 1 Gl )

A 230V DC machine has an armature resistance of 0.5 ohm. If the full load armature current
is 10A, find the induced e.m.f, when the machine acts as a motor.

(a) 225V (b) 235V (c) 220V (d) 240V

Options :
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715134734 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Th 230V DC HRH &1 SR GiRlY 0.5 3 g1 3R T0f ROl SR 4RT 10A 8, d
T9H AR & F0 § o o W W [9.9.99 BT g1 )

A 230V DC machine has an armature resistance of 0.5 ohm. If the full load armature current
is 10A, find the induced e.m.f, when the machine acts as a motor.

(a) 225V (b) 235V (c) 220V (d) 240V

Options:
1.a
2.b
3.¢
4.d



Question Number : 40 Question Id : 7715134735 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TS 6 5 N & HTOR T BTAM .o, T 8
The form factor of a pure sine wave is .........

Options :
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715134735 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TS [ 5 N & HTOR T BT A ..o, T
The form factor of a pure sine wave is .........

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134736 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



FHE I Y I H oH Tgl 87

Which of statements I to ITI given below are true?

. U& DC U® ¥ ¥ e 4RI DC & a1 IR FeeH 4R ACE

In a DC motor stator winding current is DC and rotor winding current is AC
I Th IRV AR § € qUl YR, &l Pocd URT AC §

In induction motor, both stator and rotor winding current are AC
1. qed@led A9H ¥ ¥R $ecd 4R AC § Ul AR Hoed 4R DC B

In synchronous machine, stator winding current is AC and rotor winding current is DC

(a) LII (b) L, III (c) IL, III (d) L IL, TII

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134736 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
B 1910 4 PN T g2

Which of statements I to III given below are true?

. U& DC HiI® H ¥&X $3ad 4R DC § 1 IR $geH 4R AC &

In a DC motor stator winding current is DC and rotor winding current is AC
I U% RV AR § € qU YR, &H Poed 4R AC §

In induction motor, both stator and rotor winding current are AC
1. Jedrcd #eiH ¥ ¥ $gad 4RI AC § adl IR $sed 9N DC &

In synchronous machine, stator winding current is AC and rotor winding current is DC

(a) LI (b) L IIT (c) IL, I1I (d) L I, 11

Options:
1.a
2.b
3.c
4.d

Question Number : 42 Question Id : 7715134737 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



U T § 4 EF R W@ uERER & WyE 4 94 ol § o8 w6

Which of the following is true regarding behaviour of a thyristor as junction temperature
increases?

a) 3 A dicedl H i Bl 8/Forward blocking voltage increases
b) Johd el dicedl ¥ 9fG BIdl 8/Reverse blocking voltage increases
c) JobH &RUT HRI T Eﬁ'cﬁ %fReverse leakage current decreases

d) Gﬂ?i'dﬂ 49 Hﬂij‘ 4l 781/ None of the above

Options:

(
(
(
(

1.a
2.b
3.C
4.d

Question Number : 42 Question Id : 7715134737 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o e 98 R R @ uEher & wvE € St Feiifed § o8 w8
Which of the following is true regarding behaviour of a thyristor as junction temperature
increases?

a) 3 A dicedl H i Bl 8/Forward blocking voltage increases
b) Johd el dicedl ¥ 9fG BIdl 8/Reverse blocking voltage increases
c) JobH &RUT HRI T Eﬁ'cﬁ %fReverse leakage current decreases

d) Gﬂ?i'dﬂ 49 Hﬂij‘ 4l 781/ None of the above

Options:

(
(
(
(

1.a
2.b
3.C
4.d

Question Number : 43 Question Id : 7715134738 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TG i i e ara (e 6) &, @ a1 100A d1 s dteea 130V 31 @ oA el o
i 1 AT 52 SiTe, ) ot 4 5W e OW g1 S @1 ifae o7 g7
In a balanced three phase circuit (Figure 6), the line current is 100A and line voltage

is 130V. When power is measured using two wattmeter methods the readings are
15W and OW. What is the power factor of the load?

W,

76

(B
¥

fe BiFiqure 6

(a) 0.500 (b) 0577 (c) 0.866 (d)1.00

Options :
1.a
2.b
3.C
4.d

Question Number : 43 Question Id : 7715134738 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TG i i e ara (e 6) &, @ a1 100A d1 s dteea 130V 31 @ oA el o
i 1 AT 52 SiTe, ) ot 4 5W e OW g1 S @1 ifae o7 g7
In a balanced three phase circuit (Figure 6), the line current is 100A and line voltage

is 130V. When power is measured using two wattmeter methods the readings are
15W and OW. What is the power factor of the load?

W,

76

(B
¥

fe BiFiqure 6

(a) 0.500 (b) 0577 (c) 0.866 (d)1.00

Options :
1.a
2.b
3.C
4.d

Question Number : 44 Question Id : 7715134739 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

iRl ol T o W S @ife gics T Sfafka Ber aa g?
What is the transfer function of a zero order hold with sample period T?

1-¢~5T 1=¢~5T 1
_ a=ST i
0 1-c Ol =

(a)

Options :



1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134739 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

wideel srafd T o W Y e Bies &1 Siad e a1 37

What is the transfer function of a zero order hold with sample period T?

1_6”5']: -sT

il 1=-¢ 1
(B — ) 1-e © = @5
Options :
1.a
2.b
3.C
4.d

Question Number : 45 Question Id : 7715134740 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fet 7 o v Ry @ & for 01, /0V; & =0 & ufviita argd R @ e?

For the current regulator circuit given in Figure 7, what is the line regulation defined
as dl,/dv;?

o— /r_o\ C F——
] He !u
V, 1 .1/"] lcfL
e N
. VI
e 7iFiqure 7
1 Ry Ry,
(a) — (b) () (d) ==
Rz (Rp+Rz) R Ry
Options :
1.a
2.b
3.¢C
4.d

Question Number : 45 Question Id : 7715134740 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



fet 7 o v Ry @ & for 01, /0V; & =0 & ufviita argd R @ e?

For the current regulator circuit given in Figure 7, what is the line regulation defined
as dl,/dv;?

o— /-O\ C F——
] He !u
V, 1 .1/"] lcfL
e N
. VI
e 7iFiqure 7
1 Ry Ry,
(a) — (b) () (d) ==
Rz (Rp+Rz) R Ry
Options :
1.a
2.b
3.¢C
4.d

Question Number : 46 Question Id : 7715134741 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T@-Yq §R dfod A} #, TRkadl PWM MR & WM @ gad § R PWM G &

W & § g9 7 @ g2

What is the primary drawback of using a constant PWM frequency in an H-bridge driving a

motor compared to using variable PWM frequency?

a) f&dl # widd g9 H 9i&/Increased power losses in the switches
b) X & q U H HAl/Reduced motor torque

(
(
(c) WIg Marw # Hi3R/Difficulty in shoot-through prevention
(d) Wi 9 Faa0 Wiml/Limited speed control range

Options :
1.a
2.b



3.cC
4.d

Question Number : 46 Question Id : 7715134741 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T@-¥ g T A ¥, oRadl PWM MG & ST 3 g & fRR PWM G &
W oA § g9 7 @ g

What is the primary drawback of using a constant PWM frequency in an H-bridge driving a
motor compared to using variable PWM frequency?

(a) Radl # widd 39 # qig/Increased power losses in the switches
(b) AR & §q g0l H HHI/Reduced motor torque
(
(

¢) WIg MaRu § BieE/Difficulty in shoot-through prevention
d) Yifd o7 M0 1/ Limited speed control range

Options :
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134742 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IGBT &I (ufid &4 & fo/U jigdd ¥aobd .... 8/The signal used to control an IGBT is

(a) &R YRI/Gate current

(b)ER ¥ JoGeid dleedl/Gate to emitter voltage

(c) YUl YRI/Collector current

(d) ¥Iel ¥ Jouid dieedl/Collector to emitter voltage

Options:
1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134742 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



IGBT &I (ufid &4 & fo/U jigdd ¥aobd .... 8/The signal used to control an IGBT is

a) gR YURI/Gate current

b) &R ¥ JHuid dleedl/Gate to emitter voltage

c) Y@l YRI/Collector current

d) ¥el ¥ Iui® dleedl/Collector to emitter voltage

(
(
(
(
Options :
1.a
2.b
3.¢

4.d

Question Number : 48 Question Id : 7715134743 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

% ¥ URadA a1 R0 oy UrEdl & AU BUEE TRRU & 9 U QR0 o
o Ped & Yoo # Fffed # 9 Wl @7

Which of the following is true about sensitivity of a feedback control system with negative
feedback to changes in forward and feedback path parameters?

2) GHIl @ U UHUAM ITEl/Equally sensitive to both

b) &Ml & fU gEl/Insensitive to both

¢) 3 TY Urad & fu offfid TTEl/More sensitive to forward path parameters

d) TR 9y YrEEl & U fE UGl More sensitive to feedback path parameters

(
(
(
(

Options :

1.a

2.b

3.C

4.d

Question Number : 48 Question Id : 7715134743 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

39 1 ORadH aur TRY 0y T & R Buee R & Y @ R B gomd
o e & Yoo # Fffed 7 @ Wl @7

Which of the following is true about sensitivity of a feedback control system with negative
feedback to changes in forward and feedback path parameters?

2) QM @ U UHEAM TEl/Equally sensitive to both
b) Gl & foU FIEl/ Insensitive to both
¢) U TY Wad & fu offfid e/ More sensitive to forward path parameters

(
(
(
(d) TTRU Uy Wiel & foU aifid EAEl/ More sensitive to feedback path parameters



Options :
1.a
2.b
3.C
4.d

Question Number : 49 Question Id : 7715134744 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

v 4 waiford & i STtel @l 6KV @1 Gt agehHl diced @1 g & ¢ | STTe! @) oghH! &R T
SRT U1 20mA 741 25mA g1 o 7T & UieRiva! @l i Srive] & HR-UR I of W §
It 3 dicedl 31 A FY B )

Two power diodes connected in series have to withstand a total reverse voltage of 6kV. The
reverse leakage currents of the diodes are 20mA and 25mA respectively. What values of
resistors respectively can be put across the diodes so that they share voltage equally?

(a) 100K, 80K

(b) 100K, 87.5K
(c) 100K,120K
(d) 100K, 125K
Options :
1.a

2.b

3.C

4.d

Question Number : 49 Question Id : 7715134744 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



3ol s o R ST 8 6K ) e ot e o e e 1 <G ot e
S/R1 A 20mA T 25mA g1 5 AT & WioR1er! 1 9 SRS o SRR Tl off ¥ 3
It d Aiced B 9HH T A 9

Two power diodes connected in series have to withstand a total reverse voltage of 6kV. The
reverse leakage currents of the diodes are 20mA and 25mA respectively. What values of
resistors respectively can be put across the diodes so that they share voltage equally?

a) 100K, 80K
b) 100K, 87.5K
¢) 100K,120K
d) 100K, 125K

—— | p— g—

Options :
1.a
2.b
3.C
4.d

Question Number : 50 Question Id : 7715134745 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

80 DRI & Y Uh Wl 4ad 9a decl diccard @i farr 4 §dierx 2.5 FHIR 81 U
&1 URRIE 15000 3t § aur SickTa § 3 T 150 mWh/m2 g1 el & 300V Swga
& W U H I fagud 99 omgel fber 82

A permanent magnet moving coil volt meter with 80 turns has a dimension of 4cm x 2.5cm.
The resistance of the instrument is 15000 ohm and the flux density in the gap is 150 mWb/m2.
What is the deflecting torque produced in the instrument, when 300V is applied to its
terminals?

(a) 24x10-°N-m

(b) 2.4x10-°N-m

(c) 24x10-N-cm

(d) 2.4x10-°N-cm
Options:
1.a
2.b
3.c

4.d

Question Number : 50 Question Id : 7715134745 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



80 TRI & Y Us Wil 4a@ 9a dedl dieeard! @i famr 4 ierx 2.5 dlHiex 81 Iuau
&1 URRIE 15000 ot B auT SickTa # fd T 150 mWh/m2 g1 el & 300V Sffugad
T R U H I fa8ud 9 omgul e 82

A permanent magnet moving coil volt meter with 80 turns has a dimension of 4cm x 2.5cm.
The resistance of the instrument is 15000 ohm and the flux density in the gap is 150 mWb/m?2.

What is the deflecting torque produced in the instrument, when 300V is applied to its
terminals?

(a) 24x10-°N-m
(b) 2.4x10-°N-m
(c) 24x10-N-cm
(d) 2.4x10-N-cm
Options :

1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134746 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TR UERER @ qal o e T UERER & fou Feied § o T 8

Which of the following are true about a gate turn off thyristor compared with normal thyristor?

(a) 390 UG @ IR e G &

It has a highly inter digited gate structure
(b) 399 UTRER® 71 §/1t has regenerative gate
(c) T8H TS & U TP SffoRad ot ¥R &

It has an additional n+ layer near the anode
(d) 3 & fo 38 1@ ofie §91 e R W 9 v @
It requires a larger gate trigger pulse to turn on
Options :
1.a
2.b
3.¢C

4.d

Question Number : 51 Question Id : 7715134746 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



TR UERER B qal o e T UERER & fou FEkied § oF T 8

Which of the following are true about a gate turn off thyristor compared with normal thyristor?

(a) 38 T I SHRAfe e Wl B
It has a highly inter digited gate structure

(b) 39 TTeR® T B/1t has regenerative gate
(c) 59 TS & U 0P 3R n+ ¥R §

It has an additional n+ layer near the anode
(d) A & fo 38 @ fiE 91 e R W 9 9= @
It requires a larger gate trigger pulse to turn on
Options:
1.a
2.b
3.¢C

4.d

Question Number : 52 Question Id : 7715134747 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U gAIE B ofohdl [EUME S 4us € adl SR 4RI &1 HaUdd & 24Aks & 9 TR
TeT Bl 8l ogebdl W dW @ 87

The reverse recovery time of a diode is 4us and the rate of fall of diode current is 24A/us and
the recovery is abrupt. What is the reverse recovery charge?

(a) 6uC (b) 48uC (c) 96uC (d) 192uC

Options :
1.a
2.b
3.c
4.d

Question Number : 52 Question Id : 7715134747 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T SIS B ofobdl [N S 4us € adl SRS 4RI &1 a0 @ 24Aks & 9 [EUG
Tel Bl 3 ofebdl W Ay @l &2

The reverse recovery time of a diode is 4us and the rate of fall of diode current is 24A/us and
the recovery is abrupt. What is the reverse recovery charge?

(a) 6uC (b) 48uC (c) 96uC (d) 192uC

Options :
1.a
2.b



3.cC
4.d

Question Number : 53 Question Id : 7715134748 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

el TR 3 (g, YT SEFIRR ), T Fe ST vfaaier &1 o1 uvE 37
What is the effect of the phase lead compensator on the gain cross-over frequency
Wqc and bandwidth w,?

(a) &M Te<i @/Both are increased.

(b) wqc Fed! & Al Wy Tedt Blwg is increased but w, decreased.

(C) Wy Ted § ao Wy Teal By IS decreased but wy increased.
(d) &Hi gedt @/Both are decreased.

Options:
1.a
2.b
3.c
4.d

Question Number : 53 Question Id : 7715134748 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

el TR 9 (g YT SRR (0, TR Sl ST Baaier & 1 uHid 37
What is the effect of the phase lead compensator on the gain cross-over frequency

Wqc and bandwidth w,?
(a) @i Tt 3/Both are increased.

(b) wee Tl 3 A Wy TT Blge IS increased but w, decreased.
(C) wqe et B A Wy T6d Bwge is decreased but wy increased.
(d) @i gecdt g1Both are decreased.

Options :
1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134749 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Id feam T aRkey (RE 8y H, i O oed € a1 URAS SRl T t=0 W & §g
g T t=100us W Welll t=200us R W ¥ ek el fodt grie

In the circuit shown (Figure 8) all the elements are ideal and the initial conditions are zero.
The switch is closed at t=0 and is opened at t=100us. What will be energy stored in the inductor

at t=200us?
100uH
100V o 5
49 8/Figure 8
(a) 0.25] (b) 0.51 (c) LI (d)2]
Options :
1.a
2.b
3.C
4.d

Question Number : 54 Question Id : 7715134749 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



Id feam T aRkey (RE 8y H, i O oed € a1 URAS SRl T t=0 W & §g
g T t=100us W Welll t=200us R W ¥ g el fodt grie

In the circuit shown (Figure 8) all the elements are ideal and the initial conditions are zero.
The switch is closed at t=0 and is opened at t=100us. What will be energy stored in the inductor
at t=200us?

NN
VI
100uH
100V o= ZX
49 8/Figure 8
(a) 0.25] (b) 0.51 (c) LI (d)2]
Options :
1.a
2.b
3.cC
4.d

Question Number : 55 Question Id : 7715134750 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 3-fde S SRR @ HRU-T0 & I $=d g0 HWSicya fvar 1 31 vdd -
T @ YR fdd 1005 81 3-HC I PR B HiUFad Prog gy MHz H .......
gl

A 3-Dit ripple counter is designed using flip-flops. Propagation delay of each flip-flop is 10
ns. The maximum clock frequency in MHz of a 3-bit ripple counter is

(a) 50.0 MHz (b) 33.3 MHz (c) 12.5 MHz (d) 25.0 MHz
Options :
1.a
2.b
3.C
4.d

Question Number : 55 Question Id : 7715134750 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T 3-fae I PR @I KU-TIU & TN $d g HNSIcTa il 1 81 Wdd fokig-
T & YR facfd 100s g1 3-fde S dER o1 AfiHdn ardg oM@y MHz §
8l

A 3-bit ripple counter is designed using flip-flops. Propagation delay of each flip-flop is 10
ns. The maximum clock frequency in MHz of a 3-bit ripple counter is

(a) 50.0 MHz (b) 33.3 MHz (c) 12.5 MHz (d) 25.0 MHz

Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134751 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fow 0 afe & s srefarae gfdd o1 ¢ St MOSFET a1 BIT @1 e 1ot ! waiford
GEGIk

Which of the given device is a modern semiconductor device that combines the best
qualities of MOSFET and BIT?

Options :
1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134751 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



feu U afda & anyfe srsfara gfcd HF § S MOSFET a1 BIT o waiw o @t Gaiford
B 87

Which of the given device is a modern semiconductor device that combines the best
qualities of MOSFET and BIT?

Options:
1.a
2.b
3.c
4.d

Question Number : 57 Question Id : 7715134752 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T 220/440 V TwrR H e Wi sty qurvioer, 0.3 Qw04 Q ¢ qu s vy
1 vfaer, 0.6 Q7w 0.8 Q 71 fcftos efifTa dicea &1 wa e 99 0.6 pf 1§ 5 A 9t ¥
Bl

A 220/440 V transformer has a primary resistance and reactance of 0.3 Q and 0.4 Q
and secondary resistance and reactance of 0.6 Q and 0.8 (, respectively. Find the
secondary terminal voltage when supplying 5 A at 0.6 pf lagging.

(a) 400V
(b) 425V
(c) 430V
(d) 440V

Options:
1.a
2.b
3.¢
4.d

Question Number : 57 Question Id : 7715134752 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



T 220/440 V TwiR A s Wi gty qurvioer, 0.3 Qw04 Q ¢ au s vty
1 vfaer, 0.6 Q7w 0.8 Q 71 fcftos efifTa dicea &1 wa e 99 0.6 pf 1§ 5 A 9t ¥
Bl

A 220/440 V transformer has a primary resistance and reactance of 0.3 Q and 0.4 Q
and secondary resistance and reactance of 0.6 Q and 0.8 (, respectively. Find the
secondary terminal voltage when supplying 5 A at 0.6 pf lagging.

(a) 400V
(b) 425V
(c) 430V
(d) 440V

Options :
1.a
2.b
3.C
4.d

Question Number : 58 Question Id : 7715134753 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fafefed wRuy (@ 9) # SCR &1 ¥ ¥HY Sus 8, 60 mA @i RiedHl uRT a4 30
mA I §F YR TR TEEH § SCR & 3RYA H HAR0d HaH W IR @ g?
The SCR in the following circuit (Figure 9) has turn ON time of 5 us, latching current of 60
mA and holding current of 30 mA. What is the minimum pulse width required to turn the SCR
ON in normal operation?

of

2200
—100V Z10kQ
g 05H
93 9/Figure 9
(a) 150us (b) 200us (c) 250us (d) 300us
Options :
1.a

2.b



3.cC
4.d

Question Number : 58 Question Id : 7715134753 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o ooy (fE 9) # SCR @1 RMT ¥HY Sus 8, 60 mA P fedl 4RT qu1 30
mA ®! d¢9 4R1| WHR WA 8 SCR & 3R ¥ MdRgd Ao e fdWR & g7
The SCR in the following circuit (Figure 9) has turn ON time of 5 us, latching current of 60
mA and holding current of 30 mA. What is the minimum pulse width required to turn the SCR
ON in normal operation?

—F

2200
— 100V _:; 10 kQ
2 05H
3 9/Figure 9
(a) 150us (b) 200us (c) 250us (d) 300us

Options :
1.a
2.b
3.C
4.d

Question Number : 59 Question Id : 7715134754 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



R 4T faqad Tee o fou fofifea § o 9@ 9 ¥

Which of the following is NOT true regarding current fed inverter?

(a) faggd WIE® R FFA uR1 @ PSP fw o € qun fim dicedl 4R widsn @
Teld ® Rk 3

Output current is decided by the inverter and output voltage depends on nature of
load impedance

(b) @ W & U 7em 36 WE 309 FH 8d I o
Suitable for generating medium frequency power for induction heating
(c) Mdw W@y, = idarEn &1 gkl dIiee
The input supply should be of high impedance
(d) CFI & T ofiedl YR, Toigiy 4Rl & foU 9 Wiaaren foar difge
Ideal load for CFI should present a high impedance to harmonic currents
Options:
1.a
2.b
3.c

4.d

Question Number : 59 Question Id : 7715134754 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
YR Hikd faggd Samee @ fou Fofaied § @ 98 16 o2

Which of the following is NOT true regarding current fed inverter?

(a) faggd WIE® R FFA uR1 @ PSP fw o € qun fim dicedl 4R widsn @
Teld ® Rk 3

Output current is decided by the inverter and output voltage depends on nature of
load impedance

(b) @ W & U 7em 36 WE 309 FH 8d I o
Suitable for generating medium frequency power for induction heating
(c) Mdw W@y, = idarEn &1 gkl dIiee
The input supply should be of high impedance
(d) CFI & T ofiedl YR, Toigiy 4Rl & foU 9 Wiaaren foar difge
Ideal load for CFI should present a high impedance to harmonic currents
Options:
1.a
2.b
3.c

4.d

Question Number : 60 Question Id : 7715134755 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185



{d-diced] Y (T Ggferd dH-Fal YR I WU dXdl dH-bal PWM fdgqd TIed
N1 Jafed) @ oA foweww # dww ou IR adl & agd @ SulE @) SR 8
Hffeh:

In the harmonic analysis of the pole-voltage waveform (produced by a three-phase PWM
inverter feeding a balanced three-phase load) the 3rd and multiples of 3rd harmonics are
ignored because:

a) 4 4@ dicedl & UHE Tol ghl
They will not appear in pole voltage

b) 4 FER Bal diecdl # UHe Tl g
They will not appear in load phase voltage

(c) @ JER B diced] qYT TR dieedl § UdHE T8l ohl
They will not appear in load phase and line voltage

(d) 4 TR diced H UHe gl qi dal dieed | o
They will appear in line voltage but not in phase voltage

Options :
1.a
2.b
3.C
4.d

Question Number : 60 Question Id : 7715134755 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
yg-diced] TORRT (U@ Yqad dH-Ba YR B RO S dH-oa PWM figqd TIee

N1 Jafed) @ oA fowemw § digw ou IR akdl & agd @ SufE @ o 8
e

In the harmonic analysis of the pole-voltage waveform (produced by a three-phase PWM
inverter feeding a balanced three-phase load) the 3rd and multiples of 3rd harmonics are
ignored because:

2) § 4@ dieear & T & B
They will not appear in pole voltage
b) § FER ol diecdl # Yde Tl g
They will not appear in load phase voltage
(c) § JER Bl diced] qYT TBA dieedl § Wde T8l ohl
They will not appear in load phase and line voltage
d) 4 BT diced # UHe gl A Fa dieedr § T

They will appear in line voltage but not in phase voltage

Options :
1.a
2.b
3.c
4.d



Aptitude Test

PartI

Question Number : 61 Question Id : 7715134756 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



-1 o1 2 1 TR el §/Which figure completes the stafement?

.

isto [ W
1 as

is fo

@ | B

Options :
1.a
2.b
3.c
4.d

Question Number : 61 Question Id : 7715134756 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



-1 o1 2 1 TR el §/Which figure completes the stafement?

.

isto [ W
1 as

is fo

@ | B

Options :
1.a
2.b
3.c
4.d

Question Number : 62 Question Id : 7715134757 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



U 199 Uog H e 10T Ge @ 4R dg HI-Udl &I U4 g & HTdl Dl 2H
@l 90 @ ¥ 4 S D B H9] ol ¢l Y T8 U diid ¥R W 39 9 &
GEF @I 99 W0 & Uledd diad B YIdH Tdl & ool 999 g @ Ydl [ddl T g

{0 gR1 39 ®HPA H 4

Tl & Piciy &1 & TqU T B BH P § U A6-
74, Uic 8l 8, I9 DEHA H A §RTHFT 7 o g S

A program instituted in a particular state allows parents to prepay their children's future college
tuition at current rates. The program then pays the tuition annually for the child at any of the
state's public colleges in which the child enrolls. Parents should participate in the program as a
means of decreasing the cost for their children's college education. Which of the following, if true,
is the most appropriate reason for parents NOT to participate in the program?

(a) Tl UF & 19 Ui Pl o Hell g, 3¢ IHT Ad-10dl S B
The parents are unsure about which public college in the state the child will attend.

(b) Td et Ml & o fhdt o uiid el # o] W UG gikd o T,
g2 & fod il Ui oo § g & ¥ & oA ard ¥ el gl
The amount of money accumulated by putting the prepayment funds in an interest

bearing account today will be greater than the total cost of tuition for any of the public
colleges when the child enrolls.

O T & Uew FRe & qie @zE are Fa oY & aite sged @ o d
Tid ¥ 964 @I 4G gidl &
The annual cost of tuition at the state's public colleges is expected to increase at a faster
rate than the annual increase in the cost of living

(d) T & $F Ulesdid Dicl el 9 U ST TFId &I dgH @ [daR 3 & &
Some of the state's public colleges are contemplating large increases in tuition next year
Options :
1.a
2.b
3.c
4.d

Question Number : 62 Question Id : 7715134757 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



gl & Uil o
[ died TR |

GEF @I 99 W0 & Uledd Do H YdH Il § Olgl g @I Hdl
Sl & DI e & U A B eH B & 10 A0 gRT 99
# 9, Ui wgt §, I97 DEHA H ACI-IUd gR 4 T O g Sfd
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:

A program instituted in a particular state allows parents to prepay their children's future college
tuition at current rates. The program then pays the tuition annually for the child at any of the
state's public colleges in which the child enrolls. Parents should participate in the program as a
means of decreasing the cost for their children's college education. Which of the following, if true,
is the most appropriate reason for parents NOT to participate in the program?

(a) Tl UF & 19 Ui Pl o Hell g, 3¢ IHT Ad-10dl S B
The parents are unsure about which public college in the state the child will attend.

(b) Td et Ml & o fhdt o uiid el # o] W UG gikd o T,
g2 & fod il Ui oo § g & ¥ & oA ard ¥ el gl
The amount of money accumulated by putting the prepayment funds in an interest

bearing account today will be greater than the total cost of tuition for any of the public
colleges when the child enrolls.

(c) o & Uisid iqe & d® cI¥F Ard [Hdlg 0¥ @ diid dghl § 4l oo
Tid ¥ g6 @ GHIGT Bl §

The annual cost of tuition at the state's public colleges is expected to increase at a faster
rate than the annual increase in the cost of living

(d) T & $F Ulesdid Dicl el 9 U ST TFId &I dgH @ [daR 3 & &
Some of the state's public colleges are contemplating large increases in tuition next year
Options :
1.a
2.b
3.c
4.d

Question Number : 63 Question Id : 7715134758 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

e fadhed # © 150 s FRAUDULENT a1 foudiee G ot 16 o1 e e

Choose one of the following options that means the opposite of the given word;
FRAUDULENT

(a)

(b) Direct
(c) Forthright
(d) Genuine

Options :

Candid

1.a
2.b



3.cC
4.d

Question Number : 63 Question Id : 7715134758 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

IefciRad et # 1 foU s FRAUDULENT &1 fauier G Tl g 6l 90

Choose one of the following options that means the opposite of the given word:
FRAUDULENT

) Candid
) Direct

) Forthright
) Genuine

Options :

(a
(b
(c
(d

1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715134759 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



6 TE-amed 06! MY @R @ ¢ THH B, & o0 8 o aiga @t Ry A
2 1 e et AR e R 1 R A B 1 U A
foren § U4 99 W W a AR T |1 0! TR i 8 Ol o § o 9 el
o9 fomieival @l o &1 3@ ol AU 1 W A $E0 G @ 9

A co-worker is undermining you. Currently, he is at a less senior position than you in the company
and hasn't been working there for long. However, he is better educated than you and is also
considered a fast learner. You know from a third party that he is interested in taking over some
of your responsibilities What would you do and why? Choose the BEST

(o) WV B9 T F1 3, U MY TUR B3 9 T N S 2
You wait to see how things develop; at the moment this information is merely hearsay

(b) 30 UG TE-FAGA B a0 FH D U G AT Bl [ M e
o o BT B T D QA § Y S b o o B §
3 o @ oW ¥ dE wd {1 W T Aol W T TR N § d R
ig HeH Jor
You call your co-worker in for a talk. You explain that cooperation is an essential feature
of any workplace and tell him you believe both of you can learn from one another. If he
refuses to understand you take more serious steps

(0 om0 amel R 5l G @ B W T o 98al A 39 A @ WaEs
B RO B TU A0 Fe-mmed @ Womfd 9 & R g o

You do not want to take any chances with such issues. You report the matter to your
supervisor and advise him to consider replacing your co-worker

(0) 3 o 590 B TS A N I, O oM W A 3 7
q 39 Te-oHad 3l Jud B & 9@ AR S §
Since you do not want to make a "big deal" out of the issue, you ask a third party to
intimate to your co-worker that his behaviour is unacceptahle

Options :
1.a
2.b
3.C
4.d

Question Number : 64 Question Id : 7715134759 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



6 TE-amed 06! MY @R @ ¢ THH B, & o0 8 o aiga @t Ry A
2 1 e et AR e R 1 R A B 1 U A
foren § U4 99 W W a AR T |1 0! TR i 8 Ol o § o 9 el
o9 fomieival @l o &1 3@ ol AU 1 W A $E0 G @ 9

A co-worker is undermining you. Currently, he is at a less senior position than you in the company
and hasn't been working there for long. However, he is better educated than you and is also
considered a fast learner. You know from a third party that he is interested in taking over some
of your responsibilities What would you do and why? Choose the BEST

(o) WV B9 T F1 3, U MY TUR B3 9 T N S 2
You wait to see how things develop; at the moment this information is merely hearsay

(b) 30 UG TE-FAGA B a0 FH D U G AT Bl [ M e
o o BT B T D QA § Y S b o o B §
3 o @ oW ¥ dE wd {1 W T Aol W T TR N § d R
ig HeH Jor
You call your co-worker in for a talk. You explain that cooperation is an essential feature
of any workplace and tell him you believe both of you can learn from one another. If he
refuses to understand you take more serious steps

(0 om0 amel R 5l G @ B W T o 98al A 39 A @ WaEs
B RO B TU A0 Fe-mmed @ Womfd 9 & R g o

You do not want to take any chances with such issues. You report the matter to your
supervisor and advise him to consider replacing your co-worker

(0) 3 o 590 B TS A N I, O oM W A 3 7
q 39 Te-oHad 3l Jud B & 9@ AR S §
Since you do not want to make a "big deal" out of the issue, you ask a third party to
intimate to your co-worker that his behaviour is unacceptahle

Options :
1.a
2.b
3.C
4.d

Question Number : 65 Question Id : 7715134760 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



ST BN i foum o orie @rdedl & ® 0 § o0 o gl U R AR
G & [T TioA fGuMT Haeadare &l dar 0o Wgd § B $id Il gl Sig @I
TGHT AU Haxahais 1 del Uil 9gd THIRI 8, didd $8 Tedl & 0¥ IUbI
A § W g1 S B $Y TR ¢ R0

Denise works as an office receptionist in the county building department. She receives a call from
a customer asking questions about the planning department's requirements for a home-based
business. Denise has some unofficial knowledge of the planning department's requirements, but

some of the customer's questions are not within Denise's scope of expertise. How should Denise
respond?

(@) WEH B! T & &l O D < § T D WAl & IW ¢, A B! G P
fo 9 Qaell &l FoAT faum ¥ §ig R o

Tell the customer what she thinks are most likely the answers but warn her that the
information needs to be verified with the planning department

(b) Wgd @ §a fb IU oMl faur ¥ 91 B B HaRTdal § 9Ul Sl YU
ﬂ?HT'E G% afExpiain to the customer that she needs to speak with the planning
department and offer their contact information

() T& ARG WIUW & O IG@! & THON 5, 39 Ted Bl gall
Tell the customer what she knows about homebased businesses

(d) &1 A R Ted Bl AU & I T8 ARG FaY & T H 3R THOR e
% Apologize and tell the customer that she doesn't have information on home-based
businesses

Options :
1.a
2.b
3.cC
4.d

Question Number : 65 Question Id : 7715134760 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



ST BN i foum o orie @rdedl & ® 0 § o0 o gl U R AR
G & fou Ao fGurT sMaxgddial &l R U6 Jed ¥ B did od 5l oY @I
TGHT AU Haxahais 1 del Uil 9gd THIRI 8, didd $8 Tedl & 0¥ IUbI
A § W g1 S B $Y TR ¢ R0

Denise works as an office receptionist in the county building department. She receives a call from
a customer asking questions about the planning department's requirements for a home-based
business. Denise has some unofficial knowledge of the planning department's requirements, but
some of the customer's questions are not within Denise's scope of expertise. How should Denise
respond?

(&) EF B G b I Sl D E) 8 T A WA b IN ¢, b DI TG B
fo 9 Qaell &l FoAT faum ¥ §ig R o
Tell the customer what she thinks are most likely the answers but warn her that the
information needs to be verified with the planning department

(b) Wgd @ §a fb IU oMl faur ¥ 91 B B HaRTdal § 9Ul Sl YU
ﬂ?HT'E G% afExpiain to the customer that she needs to speak with the planning
department and offer their contact information

() T& ARG WIUW & O IG@! & THON 5, 39 Ted Bl gall
Tell the customer what she knows about homebased businesses

(d) &1 A R Ted Bl AU & I T8 ARG FaY & T H 3R THOR e
% Apologize and tell the customer that she doesn't have information on home-based
businesses

Options :
1.a
2.b
3.cC
4.d

Question Number : 66 Question Id : 7715134761 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Optimist is to cheerful as pessimist is to

(a) Gloomy
(b) Mean
(c) Petty
(d) Helpful
Options:
1.a

2.b

3.c

4.d

Question Number : 66 Question Id : 7715134761 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



Optimist is to cheerful as pessimist is to
(a) Gloomy
(b) Mean
(c) Petty
(d) Helpful

Options :
1.a
2.b
3.c
4.d

Question Number : 67 Question Id : 7715134762 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

IF-91 7 g 2 I Wicaiid HeWhich one will replace the question mark 7
@ ® @ (9
® © @
0 O 0

Options:
1.a
2.b
3.c
4.d

Question Number : 67 Question Id : 7715134762 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



IS4 0 g 2 @I Wil BeMWhich one will replace the question mark 7
ORVECRCHCRS
& @ O
O O 0O

Question Number : 68 Question Id : 7715134763 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

[ g ]

Options :
1.a
2.b
3.C
4.d



O I R RO e o K L Gl I R o IR e
ST 1 1 e Biel 67

Convex mirrors are used for rear-view mirrors of vehicles. What is the advantage of using
a convex mirror instead of a flat mirror?

Convex

Flat

(a) WPTsa g It provides a clearer reflection

(b) S fed TGT ¥ g1 o It has a more accurate reflection

0 T g1 BIV &35 WIE 31 B 3% o

The wider angle of view reduces blind spots

(d) I 31 I W B M o It is easier to clean a convex mirror
Options :
1.a
2.b
3.C
4.d

Question Number : 68 Question Id : 7715134763 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



O I R RO e o K L Gl I R o IR e
U 1 61 B el 67

Convex mirrors are used for rear-view mirrors of vehicles. What is the advantage of using
a convex mirror instead of a flat mirror?

Convex

Flat

(a) WPTsa g It provides a clearer reflection

(b) S fed TGT ¥ g1 o It has a more accurate reflection

0 T g1 BIV &35 WIE 31 B 3% o

The wider angle of view reduces blind spots

(d) I 31 I W B M o It is easier to clean a convex mirror
Options :
1.a
2.b
3.C
4.d

Question Number : 69 Question Id : 7715134764 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
FAG, GAF, HAI, I1AH,

(a) JAK

(b) HAL

(c) HAK
(d) JAI

Options:
1.a

2.b
3.¢C



4.d

Question Number : 69 Question Id : 7715134764 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

FAG, GAF, HAI, 1AH,
(a) JAK
(b) HAL

(c) HAK
(d) JAI

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134765 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Raved BR @& ueHe & 99 TgaEe IOy & uiHe ¥ &9 gl fofdmed e &
HUIEHE BT Yl T9aze HIAY & 3Uiche ¥ Wiel gl o SfulcHe adi # ¥, foifdmes
T §ed e W gl UfC Ugd @ o $UF Wal §, d Rl BY ..., g
Apartments in the Riverdale Manor cost less than apartments in The Gaslight Commons.
Apartments in the Livingston Gate cost more than apartments in the Gaslight Commons. Of the
three apartment buildings, the Livingston Gate costs the most. If the first two statements are true,
the third statement is

(a) Wel/True

(h) Tcid/False

(c) HH4d/Uncertain

(d) SWfdd FHI/All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134765 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0



Raved AR & HUIeHe &1 4ef aRe SNy & HueHe ¥ &9 gl fofdmed e &
UEHe BT Ul e NG & e ¥ Wil gl i Jfudhe vadl § ¥, foifdmed
e Yo WIEl 96 ol UG Ued & & U Wel 6, of aNRl B L. 3

Apartments in the Riverdale Manor cost less than apartments in The Gaslight Commons.
Apartments in the Livingston Gate cost more than apartments in the Gaslight Commons. Of the

three apartment buildings, the Livingston Gate costs the most. If the first two statements are true,
the third statement is

(a) Wel/True

(h) TIcId/False

(c) HHAMHd/Uncertain

(d) Iuda T/All of the above

Options :
1.a
2.b
3.C
4.d

Part Il

Question Number : 71 Question Id : 7715134766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR fon an g 6 (222 + 1) W01 Wi 0 O ¥ W faou | e emnadf o 9, 30 e
Ul e ¥ fanwg d- 2

It is being given that (22 + 1) is completely divisible by a whole number. Which of the
following numbers is completely divisible by this number?

Options :
1.a
2.b
3.C
4.d

Question Number : 71 Question Id : 7715134766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR fom T 6 (222 + 1) U0l Wi U O ¥ W fovon | e emnaft o 9, 3 e
Vol e ¥ fanrwg - €2

It is being given that (22 + 1) is completely divisible by a whole number. Which of the
following numbers is completely divisible by this number?

Options :
1.a
2.b
3.C
4.d

Question Number : 72 Question Id : 7715134767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



figd o Wi 4 ©67 § Wel 9od o8 €6 4 89 ¥ B o c@l ¢ A
oI ¥ e 90 ¢l 9 e & PYT Wl §, O deU B ... Bl

During the past year, Josh saw more movies than Stephen. Stephen saw fewer movies than
Darren. Darren saw more movies than Josh, If the first two statements are true, the third

statement is

(a) Wel/True

(b) TIcid/False

(c) HHMd/Uncertain

(d) Judad oll/all of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 72 Question Id
Correct Marks : 2 Wrong Marks : 0

: 7715134767 Question Type : MCQ Option Shuffling : No



figd o Wi 4 ©67 § Wel 9od o8 €6 4 89 ¥ B o c@l ¢ A
oI ¥ e 90 ¢l 9 e & PYT Wl §, O deU B ... Bl

During the past year, Josh saw more movies than Stephen. Stephen saw fewer movies than
Darren. Darren saw more movies than Josh, If the first two statements are true, the third

statement is

(a) Wel/True

(b) TIcid/False

(c) HHMd/Uncertain

(d) Judad oll/all of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 73 Question Id
Correct Marks : 2 Wrong Marks : 0

: 7715134768 Question Type : MCQ Option Shuffling : No



fofT @18 70 9 Wi 7

To which group does the fiqure belong?

Options :
1.a
2.b
3.c
4.d

Question Number : 73 Question Id : 7715134768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fofT @18 70 9 Wi 7

To which group does the fiqure belong?

- oo =
=

c
d

A B/ Neither A nor B

(a
(b
(
(d) I TAI of the above

)
)
)
)

%

Options :
1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

d 3T AT B ﬂ?f\&il_‘f e %;"Theyr felt safer

P Udd ?Emfm watch the mountain

Q: U Ha o wlal/of more than five miles
R:W d faR Eﬂﬁ U/as they settled down
S:Udh ?\P[ @,-’frc:m a distance

\H’j\_ﬂ & S8, SAa®q ........ _5:\:“ T I%Q;’The Proper sequence should be:

(a) RPSQ
(b) RSQP
(c) PQSR
(d) PRSQ

Options :



1.a
2.b
3.c
4.d

Question Number : 74 Question Id : 7715134769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

q U AT B ﬂ?f\&iﬁ OHd %/Thev felt safer

p:Udd a"@:ﬂfto watch the mountain

Q: U Hg o wlal/of more than five miles
R:WY § &R Eﬁﬁ U/as they settled down
S:Udh ﬁ @f/frcrm a distance

\31"351. 67 4R, SAa#9 ........ Eﬂ:ﬂ T i%E!fThe Proper sequence should be:

(a) RPSQ
(b) RSQP
(c) PQSR
(d) PRSQ

Options :
1.a
2.b

3.cC
4.d

Question Number : 75 Question Id : 7715134770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e 2 foer o 8 1740 v ) ot g o o 2

In the diagram shown below, which pulleys are turning clockwise?

direction of travel

Options :
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715134770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e 2 foer o 8 1740 v ) ot g o o 2

In the diagram shown below, which pulleys are turning clockwise?

direction of travel

w-

|\
(OB

chain

(o) (op

Options :
1.a
2.b
3.c
4.d
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Question Number : 76 Question Id : 7715134771 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5
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A four quadrant separately excited DC drive is shown in Figure 10. It is used in an electric
vehicle powered from a 120V battery. The field current of the motor is kept constant. The
armature resistance of the motor is 0.50hm. The vehicle is being driven on a level road at a
constant motor speed of S00RPM while the converter is operating at a duty cycle of 0.85 and
armature drawing a current of 50A. The vehicle then moves down a gradient in the same
direction but the speed is maintained at S00RPM by employing regenerative braking at a
constant current of 20A. The switching frequency is 20kHz. Assume that all components are
ideal and ripple in the armature current is negligible. Evaluate the following when the vehicle

is moving down the gradient.

i. ofi9d dedl URVAverage battery current
i 9 H 999 W& icH &1 qH/Power returned to the battery

i. 9% Se-Mqul/Braking torque

§;

& : ¥
Q, i 1 Q,
AP AD:;
4+ R
. Load
¥ T A B
AD \ D
o ‘ 4 AD, o,
= 10/Figure 10
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A four quadrant separately excited DC drive is shown in Figure 10. It is used in an electric
vehicle powered from a 120V battery. The field current of the motor is kept constant. The
armature resistance of the motor is 0.50hm. The vehicle is being driven on a level road at a
constant motor speed of S00RPM while the converter is operating at a duty cycle of 0.85 and
armature drawing a current of 50A. The vehicle then moves down a gradient in the same
direction but the speed is maintained at S00RPM by employing regenerative braking at a
constant current of 20A. The switching frequency is 20kHz. Assume that all components are
ideal and ripple in the armature current is negligible. Evaluate the following when the vehicle

is moving down the gradient.

i. ofi9d dedl URVAverage battery current
i 9 H 999 W& icH &1 qH/Power returned to the battery

i. 9% Se-Mqul/Braking torque

§;

& : ¥
Q, i 1 Q,
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. Load
¥ T A B
AD \ D
o ‘ 4 AD, o,
= 10/Figure 10
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Design a non-isolated DC-DC converter to accept input voltage in the range of 25V to 35V and
to produce 5V output with maximum ripple voltage of 10mV and load current of 200mA to 2A
using MOSFET as switch and a diode as freewheeling component. Use switching frequency of
400 kHz and continuous conduction mode of operation. Find the minimum value of inductor
and capacitor of the output LC filter

Question Number : 77 Question Id : 7715134772 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

25V U 35V @@ & W § oW diccdl T & @1 lomV @ dfpdd FH died &
Y 5V @1 A ST B il fed & ®9 #§ MOSFET 4 Wigglian 9 ¢ &0 § U
SIS P W &Y §C 200mA ¥ 2A &l IR R g U DC-DC Hdgdd URddd @l
e B 400 kHz B e iy aul W @ IR dddl [ @1 Swn 6
i LC e & RS our YuIRA & <Had JH @ Ul |

Design a non-isolated DC-DC converter to accept input voltage in the range of 25V to 35V and
to produce 5V output with maximum ripple voltage of 10mV and load current of 200mA to 2A
using MOSFET as switch and a diode as freewheeling component. Use switching frequency of
400 kHz and continuous conduction mode of operation. Find the minimum value of inductor
and capacitor of the output LC filter
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16 Pt Jfdd @1 A &7 S0W BI gHST ddiT HRY 6;, of 0.5°C/W &I W g
UIRIY B 0.05C/W @1 U9 & WY T SO AW W R do/l T g1 4 ©e @i
ORI dU HiRIY B, 0.25°C/W 81 T &1 WY q9H &1 RS B 99 380 60°C
URAY U R B HEM A6 gl 1200C R Y dUEH B U T & U O we
B, B A1 UfcRly @r gHl aifgw

A power device has a power dissipation of 80W. It has a thermal resistance 8;; of 0.5C/W.
It is mounted to a heat sink plate with a grease of thermal resistance Bog 0.05 C/W. The
computed thermal resistance of the metal plate is 8, 0.25 C/W. Compute the junction
temperature of the device when made to work at 60°C ambient temperature. What should be
thermal resistance of metal plate 65, to maintain junction temperature at 120°C?

Question Number : 78 Question Id : 7715134773 Question Type : SUBJECTIVE Consider As
Subjective : Yes



Correct Marks : 5

16 Pt Jfdd @ A& &7 S0W B1 ST i iR 6, of 0.5°C/W &1 38 g
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A power device has a power dissipation of 80W. It has a thermal resistance 6;. of 0.5C/W.

It is mounted to a heat sink plate with a grease of thermal resistance Bgg 0.05 C/W. The
computed thermal resistance of the metal plate is 854 0.25 C/W. Compute the junction
temperature of the device when made to work at 60°C ambient temperature. What should be
thermal resistance of metal plate 65, to maintain junction temperature at 120°C?
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Correct Marks : 5

feet 11 8 fow T Svh e figgd §1ed & L1=L2=L=50yH, € = f—guF, R=40 31DC Fiw

dieea Vg = 200V 31 Yz &t Uy w9 16.6 uS 31 78 Uar o s forart 2ifoha TR Suaey
gl 7 4200 Hz @1 i smg R v T @l A fom = 22/7

. ; gy 50
The series resonant inverter shown in Figure 11 has L1=L2=L=50pH, C = 3 uF, R=40.

The DC input voltage is V5= 200V. The turn off time of thyristor is 16.6 uS. Find out how
much dead band will be available when operating at an output frequency of 4200 Hz.
Assume m = 22/7

S 7 Thyristor
m

L1=L

Vs
C L2=L

Volt) LOAD _}Z Thyristor

T2

fo 11/Figure 11
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The series resonant inverter shown in Figure 11 has L1=L2=L=50pH, C = 7P IF, R=4Q.

The DC input voltage is Vs= 200V, The turn off time of thyristor is 16.6 uS. Find out how
much dead band will be available when operating at an output frequency of 4200 Hz.
Assume ™ = 22/7

S / Thytistor
Ti

L1=L

Vs
C L2=L

volt) LOAD _}Z Thyristor

T2

feE 11/Figure 11
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0.1
s(s+
introduced to get a stable second order response with damping ratio of 0.55 and undamped
natural frequency of 1 rad/s. what are the parameters (proportional gain and derivative gain)

of the controller required?

. A PD controller and unity negative feedback are

A plant has a transfer function of
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0.1
s(s+1)
infroduced to get a stable second order response with damping ratio of 0.55 and undamped
natural frequency of 1 rad/s. what are the parameters (proportional gain and derivative gain)

of the controller required?

. A PD controller and unity negative feedback are

A plant has a transfer function of





